BCM SCHOOL BASANT AVENUE DUGRI ROAD LUDHIANA
CLASS VI
SUBJECT-SCIENCE
MONTH — DECEMBER
ANSWER KEY

d) Froglet
¢) Reproduction
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
Water does not come out from the glass tumbler. Water in the air deposits on the outer surface of

the glass tumbler. This is due to condensation.

The normal range of human body temperature is around 37.0 °C but can vary slightly due to factors
like age, time of day, and activity level. A perfectly healthy person’s temperature might be a bit
higher or lower than 37.0 °C.

No, we cannot fill 600 mL of water in a bottle labelled as capacity of 500 mL because bottle has
only volume to fill 500 mL and extra 100 mL of water gets spilled off the bottle.
Water from the surface of utensils evaporates with time.
The process of getting rid of wastes by organisms is known as excretion.
10 Plants remove waste products as secretions in form of latex, gum etc.




